EDI

JETSET LEVEL SEVEN
LISTENING TEST PRACTICE PAPER 01
THE TEST LASTS APPROXIMATELY 45 MINUTES

You need

. this question paper
. an answer sheet

. a pencil.

You may NOT use a dictionary.

Do NOT open this paper until you are told to do so.
Try to answer ALL the questions.

Total marks 30

INSTRUCTIONS

. Listen to each question carefully
. Select the correct answer and then mark your selection on your answer sheet

. Only mark one answer for each question
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Part One

Read the questions, listen to the recording and select True (A), False (B)
Unknown (C). Mark your answers on your answer sheet.

10.

‘Piltdown Man’ was unearthed by Charles Darwin.
A = True B = False C = Unknown

‘Piltdown Man’ was not a genuine artefact.
A =True B = False C = Unknown

The authenticity of the skull was first questioned in 1953.
A = True B = False C = Unknown

Oakley and Weiner met in South Africa.
A =True B = False C = Unknown

Charles Dawson died from pneumonia.
A = True B = False C = Unknown

Conan Doyle and Dawson were contemporaries.
A = True B = False C = Unknown

Conan Doyle was not clever enough to produce a convincing forgery.
A = True B = False C = Unknown

The Lost World is set in prehistoric times.
A =True B = False C = Unknown

Woodward and Dawson were taken in by Hinton’s forgery.
A = True B = False C = Unknown

Two of the suspected hoaxers were called Arthur.
A =True B = False C = Unknown
(10 marks)
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Part Two

Listen to two friends, Jack and Lucy, discussing the effect of media violence.
Read each statement. Decide whether the opinions expressed are Jack’s (A), Lucy’s (B)
or whether they both agree (C). Mark your answers on your answer sheet.

11.

12.

13.

14.

15.

16.

17.

18

19.

20.

Watching violence on TV doesn’t make you violent.
A = Jack’s B = Lucy’s C = Both Agree

Children imitate the actions of their media heroes.
A = Jack’s B = Lucy’s C = Both Agree

On TV, good does not always triumph over evil.
A = Jack’s B = Lucy’s C = Both Agree

Media violence desensitises children to real violence.
A = Jack’s B = Lucy’s C = Both Agree

Adults underestimate children’s intelligence.
A =Jack’s B = Lucy’s C = Both Agree

People who watch a lot of media violence tend to believe the world is more dangerous
than it is in reality.
A =Jack’s B = Lucy’s C = Both Agree

Prolonged periods of inactivity can induce aggressive behaviour.
A =Jack’s B = Lucy’s C = Both Agree

Cartoon violence is less likely to have an adverse effect on children because of its
comical presentation
A =Jack’s B = Lucy’s C = Both Agree

Lack of parental supervision is the root of the problem.
A = Jack’s B = Lucy’s C = Both Agree

Watching TV restricts us from experiencing and appreciating the outside world
A = Jack’s B = Lucy’s C = Both Agree

(10 marks)
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Part Three

Listen to these people talking about the decline in the bee population. Read each
question and choose the answer A, B or C. Mark your answer on your answer sheet.

21. Dr Winston believes that bees
A are useful in the ecosystem

B are essential in the ecosystem
C are insignificant in the ecosystem

22. According to Einstein, how long can mankind survive without bees?

A 4 years
B 14 years
C 40 years

23. What is the interviewer’s reaction to this prediction?
A he is surprised.

B he finds it frightening.
C he finds it pessimistic.

24. Where have bee numbers dropped the most?

A Europe
B USA
C Asia

25. What do experts think is the cause of CCD?
A parasites

B chemicals
C they are still uncertain of the cause
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26. According to Dr Winston, what happens to the empty hives when bees die naturally?
A they lose their sense of orientation.
B they are raided by other insects for their honey.
C other insects avoid them.
27. Which of the following is suggestive of a collapsed immune system in bees?
A fungal infestation
B disorientation
C genetic modification
28. Which of the following statements most closely matches Dr Winston'’s opinion?
A CCD is definitely caused by genetic modification
B CCD could be caused by genetic modification
C CCD isn’t caused by genetic modification
29. What is the interviewer’s opinion of CCD?
A it is more threatening than global warming
B global warming is more threatening
C it threatens global warming
30. What does Dr Winston say environmental groups must do?
A change direction

B hurry up
C do something

(10 Marks)
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